202349 XA J12X W

ol o}

=1 -

L

2023 &EA2 7)95) 54 Yols 0t o] ehf=yyct

DI 2]
bl JISX JIF S~ IS8k
1 AELSE AET 6,000,000 | ==EA| ofeEstg =
2 CHetd Mgl sl 2% & 10,000,000 | =H=EA| ofgzetg =4
3 St ST M S EAA A 1,000,000 | =HZXEA| ofezstg =4
4 | =S EXTAEZAARS 2,000,000 | =£X=A| ofgEstg =4
5 HEN & 2,000,000 | Z£XEA| ofgkatstza =M
6 SFAEZMEZF 5,000,000 | =£X=A| ofgEstg =4
7 HEAKXZO0|EES 2,350,000 | =HEA| ofgEsE =4
8 FAR=g, 3,000,000 | HEA|l ofgatstzg =AM
9 SxHdely3 5,000,000 | =HxA| ofgEetg =4
10 S EILHA 3,000,000 | =ZEA| ofgkaetg =M
11 HEA0{ Al & 2l 5 3,000,000 | =HxEA| ofgEetg =4
12 SZANESFREAE 1,000,000 | =ZXA| ofekzstg =4
13 L SE] 6,000,000 | =HXEA| ofgEetg =4
14 255t 300,000 | #|58% MoE=pAl X|2
15 4z 500,000 | H|58% MotE=tA X[
16 =7 | Ef 1,500,000 | H[58=2] MofEstA X
17 Z A 1,600,000 | H[58% MotZsiA %2
18 Hdot 500,000 | #|58% MorE=pAl XA
19 HAEH 200,000 | H|58% MotE=tA A2
20 Z Sl 100,000 | 583 MzZ=bA XA
21 =29 500,000 | 585 MorE=pAl X|2




ot IS XL JIRSU(A) IS8

22 HS4 500,000 | *|58% Merz=bAl XA
23 =gl 300,000 | #|58% Merz=pAl X|2
24 el 300,000 | 583 MotEstAl XA
25 SIF= 300,000 | #|58% MerZ=pAl X|2
26 Spake 50,000 | I583 MotZEHA XA
27 ZI O A} ,000,000 | 583 MetZ=bA X|2
28 s 300,000 | 583 MotEstAl XA
29 o|&2 300,000 | 583 MotEstAl XA
30 rapsiel 200,000 | H|58% Merz=pA X[
31 A 100,000 | 583 MotzZ3tA X[
32 TR M 100,000 | H|583 MotZ3tA X|2
33 E[ &t 300,000 | #5835 MotEstAl XA
34 = K| 200,000 | H|58% Merz=pA X[
35 zl 54 100,000 | HM|58% MotZ3tA x|
36 ST 200,000 | 583 MotEZEtAl X|2
37 o] < 600,000 | #|58% MeorZ=pA XA
38 SHH&E 100,000 | 583 MtZ3HA X|2
39 o[ gt 300,000 | #|58% Merz=bAl XA
40 o= 500,000 | 583 MotEZEtAl X|2
41 = 300,000 | 583 MotEstAl XA
42 24 100,000 | X583 MotZ3tA X|2
43 &dA 100,000 | 583 MotzZ3HAl X[
44 4 24| 100,000 | X583 MotZ3tA X|2
45 Zdot 300,000 | 583 MotEstAl XA
46 HEEh 100,000 | X583 MotZ3tA X|2




ot IS XL JIRSU(A) IS8

47 FHoda 100,000 | HM|58% MotzZ3tA X|a
48 =S5 100,000 | X583 MotZ3tA X|2
49 kS 100,000 | 583 MotzZ3tA X[
50 &5 100,000 | H|583 MotZ3tA X|2
51 FARSE g 50,000 | I583 MotZEHA XA
52 =X 50,000 | 585 MdotZ=2tA X|2
53 SRS 200,000 | 583 MotEstAl XA
54 dA= 100,000 | 583 MotzZ3HA X[
55 420 100,000 | X583 MotZ3tA X|2
56 484 200,000 | #5835 MotEZstAl XA
57 H&sg 200,000 | H|58% Merz=pA X[
58 FARSE= 700,000 | (583 MdetZEtAl XA
59 st et 300,000 | #|58% Merz=pAl X|2
60 Zetke 100,000 | HM|58% MotZ3tA x|
61 Zdot 1,000,000 | X583 MfEsHA X|&
62 518e 100,000 | HM|58% MotZ3tA x|
63 55 100,000 | 583 MtZ3HA X|2
64 TEF 100,000 | HM|58% MotZ3tA x|
65 ol5Y 100,000 | 583 MtZ3HA X|2
66 SMA 100,000 | 583 MotzZ3tA X[
67 Hodd 500,000 | #|58% MerZ=pAl X|2
68 0| =3 200,000 | 583 MotEZstAl XA
69 LET 200,000 | H|58% Merz=pA X[
70 Zo|A 200,000 | 583 MotEZstAl XA
71 z| &3 100,000 | X583 MotZ3tA X|2




ot IS8t JIF S (&) IS8

72 Zelst 300,000 | #|58% Merz=bAl XA
73 8= 1,000,000 | X585 MefEstA X[
74 2l 9] 200,000 | 583 MotEZstAl XA
75 M3 100,000 | H|583 MotZ3tA X|2
76 ol 100,000 | 583 MotzZ3tA X[
77 elsts 100,000 | H|583 MotZ3tA X|2
78 e 100,000 | 583 MotzZ3tA X[
79 ot 100,000 | 583 MotzZ3HA X[
80 M5t 100,000 | X583 MotZ3tA X|2
81 SHE 4 100,000 | 583 MotzZ3tA X[
82 =4 100,000 | H|583 MotZ3tA X|2
83 45 & 200,000 | 583 MotEZstAl XA
84 =5E 200,000 | H|58% Merz=pA X[
85 o[&Z 100,000 | HM|58% MotZ3tA x|
86 oo 300,000 | 583 MotEZstAl K|
87 HEs 300,000 | #|58% Merz=bAl XA
88 ol 2H 500,000 | 583 MotZstAl X|2
89 oM s} 300,000 | #|58% Merz=bAl XA
90 =M 100,000 | 583 MtZ3HA X|2
91 ZZ i 100,000 | 583 MotzZ3tA X[
92 H=3 300,000 | #|58% Merz=pAl X|2
93 2L XA 200,000 | 583 MotEZstAl XA
94 ghab7| 2,000,000 | 583 MetZ=tH X2
95 0| =3 200,000 | 583 MotEZstAl XA
96 ZEe 100,000 | X583 MotZ3tA X|2




ot IS8t JIF S (&) IS8

97 DR 200,000 | H|58% Meorz=pAl XA
98 HHE 500,000 | #|58% MerZ=pAl X|2
99 Hed= 100,000 | 583 MotzZ3tA X[
100 =S 300,000 | #|58% MerZ=pAl X|2
101 =55 200,000 | 583 MotEZstAl XA
102 ot35| Xt 200,000 | H|58% Merz=pA X[
103 z[ 300,000 | 583 MotEstAl XA
104 g2 300,000 | 583 MotEstAl XA
105 H=AL 200,000 | H|58% Merz=pA X[
106 O Ef A} 1,000,000 | X583 MofEsA X
107 ol 2l 1,000,000 | H|58% MotEshA X2
108 ZME 100,000 | 583 MotzZ3tA X[
109 HZl7] 200,000 | H|58% Merz=pA X[
110 yst 50,000 | 585 detZ=tA X[
111 Zad 100,000 | 583 MtZ3HA X|2
112 =Rl 100,000 | HM|58% MotZ3tA x|
113 O|™ = 100,000 | 583 MtZ3HA X|2
114 olg 4 100,000 | HM|58% MotZ3tA x|
115 A 100,000 | 583 MtZ3HA X|2
116 Hf| & Ef 300,000 | 583 MotEstAl XA
117 457 300,000 | #|58% Merz=pAl X|2
118 A At 100,000 | 583 MotzZ3HAl X[
119 deab=E 100,000 | X583 MotZ3tA X|2
120 Mol= 100,000 | X585 MofEstA X[#
121 Zojgk 100,000 | X583 MotZ3tA X|2
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ot IS XL JIRSU(A) IS8

145 ZE5 100,000 | 583 MotzZ3tA X[
146 dafi = 500,000 | 583 MotZstAl XA
147 5354 200,000 | 583 MotEZEtAl X|2
148 &l 500,000 | 583 MotEZstAl XA
149 ghab7| 500,000 | *|58% Merz=bAl XA
150 Mals 200,000 | #|58% MerZ=pA X|2
151 =8 200,000 | #|58% MerzZ=pA X|2
152 FAPNK-] 100,000 | HM|58% MotZ3tA x|
153 o 100,000 | X583 MotZ3tA X|2
154 oMzl 100,000 | X583 MotZ3tA X|2
155 e 100,000 | 583 MotzZ3tA X[
156 o|=0| 200,000 | 583 MotEZstAl XA
157 =dE 200,000 | 583 MotEZEtAl X|2
158 esot 200,000 | 583 MotEZstAl XA
159 S| 300,000 | 583 MotEstAl XA
160 T4 500,000 | 583 MotEZEtAl X|2
161 My 100,000 | X583 MotZ3tA X|2
162 gt 300,000 | H|58% Meorz=pAl XA
163 o|m 4 300,000 | #|58% Merz=pAl X|2
164 o|zid 500,000 | #|58% MerZ=pAl X|2
165 #HEg 100,000 | HM|58% MotZ3tA x|
166 olgs 200,000 | H|58% Merz=pA X[
167 olgl 300,000 | 583 MotEZstAl K|




ot IS XL JIRSU(A) IS8

168 Z8Z 200,000 | 582 MotZ=tA XA
169 e 200,000 | 582 MotZ=tA XA
170 el ah= 100,000 | X585 MefEstA x|
171 a3 200,000 | 583 MotZ=tH X2
172 &y 500,000 | 5823 MotZ=tA XA
173 E[ &t 700,000 | AI58% MoA=E=EHA XA
174 ols= 200,000 | 583 MotZ=tH X2
175 =2TE 100,000 | X585 MefEstA x|
176 ZEM 1,000,000 | A58% MtEsHAl x|
177 ol&=H 1,000,000 | X585 MdefE=stA XA
178 HE= 300,000 | 583 MotZ=tH X2
179 o|# 500,000 | 582 MotEZ=tA X| &
180 st = 500,000 | 5823 MotZ=tA XA
181 st d 100,000 | H[585 MefEstA XA
182 43 500,000 | 5823 MotZ=tA XA
183 a2 100,000 | A[585 MotESIA X|&
184 oLt 300,000 | 583 MotZ=tH X2
185 &AL 200,000 | 583 MtZ=tH x|
186 SEH 300,000 | 5823 MotZ=tA XA
187 2l Elf 5 500,000 | 582 MoZ=tA X| &
188 =Pkl 100,000 | X583 MotZ3tA X|2




ot IS XL JIRSU(A) IS8

189 B = 100,000 | 583 MotzZ3tA X[
190 z| & ot 100,000 | X583 MotZ3tA x|
191 7| 200,000 | #|58% MerzZ=pA X|2
192 HHE 1,000,000 | X585 MefEstA X[
193 ol &3 300,000 | #|58% Merz=bAl XA
194 O|Ooff = 300,000 | 583 MotEstAl XA
195 E 35 A 200,000 | 583 MotZEtAl X|2
196 el 300,000 | #5835 MotEstAl XA
197 z[ 300,000 | #5835 MotEstAl XA
198 S PSES| 100,000 | 583 MtZ3HA X|2
199 FARS RS 500,000 | 583 MotEZstAl XA
200 =R 500,000 | *|58% Merz=bAl XA
201 qie Al 1,000,000 | X585 MefEstA X[
202 z23 300,000 | #|58% Merz=pAl X|2
203 o[ ™ & 300,000 | #|58% Merz=bAl XA
204 ME = 100,000 | H|583 MotZ3tA X|2
205 2128 100,000 | X583 MotZ3tA X|2
206 sHat7| 500,000 | 583 MotEZstAl XA
207 ZE& 300,000 | #5835 MotEstAl XA
208 e 2,000,000 | 583 MotZstAl X|2
209 o| &gt 500,000 | 583 MotZstAl XA
210 HA =t 200,000 | #5835 MotEZstAl XA
211 & 200,000 | 583 MotEZEtAl X|2




ot IS XL JIRSU(A) IS8

212 25 A 1,000,000 | X583 MofEsA X
213 484 200,000 | 583 MotEZstAl XA
214 Hod=F 200,000 | H|58% Merz=pA X[
215 =0/Z 200,000 | 583 MotEZEtAl X|2
216 21M At 100,000 | 583 MotzZ3HAl X[
217 ol 500,000 | *|58% Merz=bAl XA
218 Al 100,000 | X583 MotZ3tA X|2
219 ol&l= 100,000 | 583 MtZ3HA X|2
220 o5 100,000 | 583 MotzZ3tA X[
221 o|d= 200,000 | H|58% Meorz=pAl XA
222 H¥s 200,000 | 583 MotEZstAl XA
223 B{E ok 1,000,000 | X583 MofEsA X|&
224 HEY 200,000 | H|58% Merz=pA X[
225 S 500,000 | *|58% Merz=bAl XA
226 o2& 500,000 | 583 MotZstAl XA
227 HA =t 500,000 | #|58% MerZ=pAl X|2
228 424 2,000,000 | 583 MetZ=tH X2
229 Fd&E 500,000 | 583 MotEZstAl XA
230 Z[ e 1,000,000 | X583 MofEsA X
231 2 300,000 | #|58% Merz=pAl X|2
232 S k- 200,000 | H|58% MerzZ=pA X|2




ot IS XL JIRSU(A) IS8

233 243t 100,000 | 583 MotzZ3tA X[
234 ET-E 300,000 | #|58% Merz=bAl XA
235 Hd= 1,000,000 | X585 MefEstA X[
236 Fd&E 500,000 | 583 MotZEtAl X|2
237 gEZ 1,000,000 | X583 MofEsA X
238 ZEXM 500,000 | 583 MotEZstAl XA
239 45 500,000 | 583 MotEZEtAl X|2
240 =Y 200,000 | 583 MotEZstAl XA
241 HE 500,000 | *|58% Merz=bAl XA
242 2rY 1,000,000 | X585 MefEstA X[
243 Zdst 200,000 | H|58% Merz=pA X[
244 Old= 2,000,000 | 583 MetZ=tH K|
245 N ! 1,000,000 | X585 MefEstA X[
246 ot 3 200,000 | H|58% Merz=pA X[
247 42 500,000 | 583 MotEZstAl XA
248 2 SEf 1,000,000 | X583 MofEsA X
249 ZX[ 5| 1,000,000 | X583 MofEsA X|&
250 d84 500,000 | 583 MotEZstAl XA
251 Skl 500,000 | 582 MotZ=tA X| &
252 HE= 500,000 | 582 MoZ=tA X| &
253 i h 3,000,000 | =ZxA| ofgztetmg =4
254 o= 2,000,000 | =XA| ofgzetmg =4
255 Sofl E 1,250,000 | ==A| ofgkastg =4
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